448/Chem. UG/3rd SemICHEM(H)CC-06-T/ 19

U.G. 3rd SemeSter Examination - 2019

- CHEMISTRY
[HONOURS]
Course Code : CHEM(H)CC-06-T
Full Marks : 40 Time : 21 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five questions: . 2x5=10
a) How many atoms are present in the unit cell
of end-centred cubic lattice and face-centred

cubic lattices? ' '

b) In which type of stoichiometric crystal defect,
the density of the crystal does not change and
why? - i

c) Give example of molecule_g_pr ions with Sp*d
and d’ hybridizations. ‘

d) He, does not exist—_Expiain why.

e) Define lattice énergy. and hydration energy.

f) What is Madelung Constant? What is its
significance? j
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d)

. 448/Chem.

iii)

Define fluxional molecule and discuss
berry pseudorotation with reference to
TBP geometry. - 3434(2E2)

Calculate the limiting value of radius ratio
for an ionic crystalline solid when the

co-ordination number is 6.

if)

iii)

What is Mond's process?

What type of crystal defect is expected '

in FeO? :
. MfCO, is thermally less stable:than

CaCO, — explain with the help of Fajan's
i : 4+2+2+2

(4)




